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Haryana JBT Teacher Exam Question Paper 28 Sept. 2024 PT - 2

1. When wa :
'as the first election
y © of the giemm fasma 1 e 999 #4
aryana Legislative Assembly held ? B3 AT 7
(A) 1962 |
) (B) 1967 (A) 1962 _(B) 1967
(C) 1972 (D) 1977 (C) 1972 (D) 1977
(E) Not attempted (E) 3TIATEE
2. The first archacological excavation 2. @ 4 ggen qAtcash Ie@AA b
in Haryana was done by which TR g R T A 2 A7
Archaeologist ? ”A oFtem
(A) Cunningham —4) & @
(B) D. D. Snooper e (B} S1. 5l &
(C) H. L. Srivastava [=] "fi (C) . TJ,FL‘ RIS
(D) None of the above (D) 3udad H H FIE 2
(E) Not attempted (E) 3T9aTHa
3. India successfully test-fires new | 3. YG A BF & H T Yiel @l Udi-ifsuym
generation anti-radiation missile fraEd +61 {-[Lhﬂfﬂic.l:h S -1 o, :r
recently, what is the name of that faEd FTa T2 ?
RiasHes | (A) 3 -1 (B) g2Ei-1
(A) Agni-1 (B) Prithvi-1
(C) Brahmos (D) Rudram-1 (C) ~(D) *5H-1
(E) Not attempted (E) 3199TT4d
4, Find the number which will come at 4. & T3 TGN § yyAaTES 98 (?) & wH
the place of question mark (?) in the q7 3T aw.-ﬁ g@!:n HTd EFrr_-rll I
given serics. 11,12, 13, 15, 15, 15, 18, 17, 2~
11, 12, 13, 15, 15, 18, 17, ? A 20 e ‘_'TB)?
(A) 20 (B) 19
(€) 18 (D) 21 | €) 18 By =
(E) Not attempted (E) 39aifHa
S. This army general who hailed from 5. g | GIGNEE @ 9Tl 39 T S
Haryana served as the 23" Chief 3 2007-10 % dg T T91 & 239 16
of Army Staff of the Indian Army in ITF 3 =% & €9 9 T
between 2007-10 m.( : TR
(A) Dalbir Singh Suhag A ﬁrb'
(B) V. K. Singh e [m (B) . &. fe
(C) Deepak Kapoor bz (C) G IR
(D) Naik Hari Singh = (D) T 'ft fas
(E) Not attempted (E) Ivarfad
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6. Which of the following is the most

important aspect of teaching of
mathematics at primary leve] ?
(A) Promoting and preparing for
technology.
(B) Making mathematics part of
children’s life experiences.
(C) Developing rigour in calculations.
(D) Preparing for higher education
and employment.
() Not attempted

7. Urdu translation of Kalidas’ famous
composition, Meghaduta was done by
(A) Pratap Singh Rana Ginnauri
(B) Shiv Prasad Javed
(C) Balbir Singh Rathi
(D) Jwala Prasad Shahi
(E) Not attempted

8. Leaves have tiny pores called
through which they exchange gascs.

(A) Stomata

(B) Chloroplasts
(C) Guard cells
(D) Xylem

(E) Not attempted

9. What is the sum of digit of the least
which when divided by

number,
leaves the same

15, 54, 16 and 12

remainder 4 in each casc and is

divisible by 197 ) 1;« 1.[_]
(€) 15 (D) 16

(E) Not attempted

PT - 24

6. ﬁmnaaﬂn-mmﬁzﬁwwnﬁmqm

D

3
7
§
g
s
¥
3
s

At e

() T # itz fasmfEa e |
(D) =4 foren 3iit Tovm < fow 4

(E) 319mad

2 T o |
vam fag won =i
fera ware Sirg

(C) =i a7 udl

(D) SETE 9H1E IMMel

(E) 3ranfad

8. qﬁlﬁﬁ_ﬁ%-ﬂéwzﬁﬁ%m
el S R, fowd mem @ 9 = w6

ATGH-TCH H7d ¢ |
(A) Hrie

(A
(B

9. mmﬁm%wmmmg

F‘m 15, 54, 16 3fR rmﬁnnﬁmmtlt

' (A) 13
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10. Jaya Sambhita is also known as

(A) Ramayana

(B) Bhagawatgeetha
(C) Mahabbharata
(D) Panchathantra

(E) Not attempted

11. In a 75 students class, 44% are boys
and the rest are girls. The average
marks of boys are 66 and of the girls

are 72. Find the average of the class.
(A) 68.82 (B) 69.36

(C) 70.24 (D) 68.56

(E) Not attempted

12. Haryana was the first State in the
country to achieve 100% rural
electrification in

| (A) 1947 (B) 1955
‘ (C) 1970 (D) 2000
> (E) Not attempted

13. The Western Haryana Plain is

characterized by the presence of
(A) Dense forests

(B) Numerous sand dunes

(C) Large lakes

(D) High plateaus

(E) Not attempted

14. Find the option from the following

which is related to the third term in the

similar way as the first term is related

to the second terim.

80:9::120:7 240
vl
(A) 10 (B) 11 a1
C) 12 (D) 13
(E) Not attempted
A

|

PT - 24

& =9 9 ot 7

(D) T
(E) 3TSETHA

~c frenfefai <1 U w0 449 2h AN
Sy er=fEal 3 | rEHi % 3iEa 3% 66
wefRal 3 72 8 | er @ IHHa HF T
Hifsu|

(A) 68.82

(C) 70.24
(E) 375

gfmon 29 1 geen UsH & fEEd 100%
oy Terereentor e1fae foran 2
(A) 1947 (B) 1955

-(C) 1970 (D) 2000
(E) 3TIamEd

13. ufvesfi gf@mon & fem $i fadgar 2
(A) = e
-(B) &3 @ & A
(C) =<1 3
(D) 3 YBR
(E) 3rvafae

11-.

-(B) 69.36
(D) 68.56

12.

14. ﬁﬂfﬁf@ﬂﬁﬁ@mmzﬁmﬁ
e 98 & I s wiaifi @ for
TECT U GHL 9 & waifug 2
80:9::120: 7

(A) 10 ~(B) 11
(C) 12 (D) 13
(E) 3wniea

-4-
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16.

17.

18.
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Which among the following districts
are being developed by the Haryana
Fishery Resource Development
Authority ?

A) Gurgaon, Hisar, Rohtak

B) Panipat, Karnal, Faridabad

C) Charkhi Dadri, Jind, Jhajjar

D) Panchkula, Ambala, Kurukshetra
(E) Not attempted

In 7" Century A.D., this Chinese
pilgrim visited Haryana.

(A) Hsi-yu Chi
(C) Fa-hsien

(E) Not attempted

(B) Hiuen Tsang
(D) Markopolo

Which of the following statements is
not correct with regard to nature of
mathematics ?

(A) Mathematics uses special
vocabulary to communicate ideas
precisely.

(B) Argumentation skill is important
in construction of mathematical
knowledge.

(C) Mathematical concepts are
hierarchical in nature.

(D) Primary level mathematics ?s
concrete and does not require
abstraction.

(E) Not attempted

Who among the following writers of
Haryana wrote the famous drama
‘Court Martial’ ?

A) Swadesh Deepak

B) Uttamchand Sharad " £
C) Jwala Prasad Shahi :';".*;'
(D) None of the above [=]*

(E) Not attempted

:-l'
e

]
&

PT - 24

15. i g FaeE fawm mivwon g
frfafaa 7 & f faen & fawm
@S 7
(A) e, feEm, T

g (B) THIIA, FHEATE, FIEETe

‘ii?ffl (C) =@l gredl, e, A=

,(D) e, ST, FHE
(E) HUTEd

16. 7 i waredl 3. W, IH AT G4AET A
BTN T SRT TR

(A) Ti-7 =f (B) & o1
~(C) wTEHIA (D) HTEHTITEAT
(E) 3T9amEd

17. T <l Wi & HE9 H§ fFefeiEd 5 5
A-mEAEAEL T
AA) TV, femi 1 5és = Tuia
F o fou fg9y seeEet S 3939
A2 |

(B) fvrdia 39 o famiv o 5 Fivre
HEcyUl 2 | -

(C) fvrdr sr@yuromd Wi ¥ 9Em b
el & 1

(D) Wfies T @ nfvra d #@rar & 3
SEH ST 1 IEvERA T A R

(E) 3vanfaa

18. wfwmn & frafafas saw 0 3
ufag s ‘wE wre’ foan 2 7
(A) T=e 9
(B) ITHEE INE
. (C) SaTeT WHIE wITé]

(D) IWfa § | FE TH
(E) svaifaa
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PT - 24

19. If P means x, R means +, T means + 19. 7 P 314 « 3, RF 314 + 2, TH A2

and - ' : s & i
S means -, then 18T3P9S8R6 15 ol S 7 9 - 2, 1 18T3PIS8R6 T & 7
A - 1/
2/ Te=gle
(€) 52 D) 75 1 SE7. ,C) 52 D) %4
(E) Not attempted =S (E) otad
20. What is the main characteristic of the 20. HHYA Fe A dimmifers frafa = 727
physiography in Sonipat district ? ferzraat % T
(A) Predominantly sandy with dunes (A) T 1 4 T'ﬁﬁ ET‘ﬁ _ L i
(B) Mountainous with occasional (B) qﬁ@:_gﬁ““'ﬁ Fam F91-F41 J15 4
lakes ardl 2 A o -
(C) Divided into Khadar, upland _(C) @ret, 91 HeH A Tdia g4 9
plain and sandy region IEEUEE] _
(D) Characterized by deep valleys (D) &l ifeat =1 fawaa
(E) Not attempted (E) STUATEA
51. Learning disabilities in reading is 21. Ted § diEd 1 FEEA 2
(A) Dysgraphia  (B) Dysphasia (A) TemniEa (B) fz==i=T
(C) Dyslexia (D) Dyscalculia -(C) feretfaaan (D) %ﬁ%mgﬂrﬂm

(E) Not attempted (E) 2A9ATEd

22. f5a:2b=3:2and3b:7c=5:7, 52 AfZ 5a:2b=3:23M 3b:7c=3

thenthcvalucnfa:b:c:isr:quﬂltu . "Eﬁa:h:cmmﬁt;ﬁ%n%ﬁﬁ?ﬁ_ﬁ
which of the following ? TR 7 SO
(A) 3:5:3 (B) 5:7:3 (A)S:E;'S (B) 5:7:3
(C) 7:5:3 (D) 5:3:7 {C]?:S:E .—(D}S:‘i*}‘
(E) Not attempted - (E) s ==
| 23. Following are four questions posed by 23. U TfUE f91arh g1 98 ¢ ¥R W94
| a mathematics teacher. Which of the frmfafad 2 | ﬁn:{i%fﬁgﬁ 5§ 2R-9
| ‘ following is an open-ended questions ? ;
| (A) If sum of two numbers is 17, then Th :5:11'—] ! ?“
what are the numbers ? ~A) yfe a1 gEnan & qmr 17 ? al
(B) If the age of Anil is 7 years and qeEgd a2 7
‘ his father’s age is 5 times more (B) afe sfaa 6 WY 7 e 5

than that of Anil’s age. What will 3240 N ;
be the age of father ? '11' ffrm ] 311-3 Hﬁ?l Eﬁl 3“3 3 S'ﬂ"n

lﬁ"fllrfl ~ .
©) 1f sum of two numbers is 15 and E%E wfaw 2 fam @ s w0 E
one of them is_;', what will be the (C) gfe ﬁl HE137 &1 4 15 :t? 3N 3’“{
other number qUF 72 ai{ﬁﬁﬁwwéﬂﬁ !
- Id be added to 17 (s s o
(D) What shou (D) 17 T T Srgr W, o 23 W 7

get 23 ?
(E) Not attempted (i) 3Tt
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24. People who are related through our
mother are called
(A) Paternal relations
(B) Collateral relations
(C) Affinal relations a) [
(D) Maternal relations ':}.#
(E) Not attempted N
25. Which of the following is a desirable

teaching-learning practice in the

context of Mathematics ?

(A) Students should be told to follow
the prescribed steps of solving
problems.

(B) Open ended questions should be
avoided to prevent confusion.

(C) Intuitive understanding of
concepts should be encouraged.

(D) Open book tests should be
avoided.

(E) Not attempted

26. Choose the wrong number.
4 2, 3.5,7.5, 26.25, 118.125

(A) 118.125 (B) 26.25
(C) 7.5 (D) 3.5
(E) Not attempted

27. Problems with handwriting, spelling,
organizing ideas 18

(A) Dyspraxia
(B) Dysgraphia
(C) Auditory proc
(D) Dyscalculia
(E) Not attempted

essing disorder

28. Complete the following series.

7,26, 63, 124, 215, 342, 7
(A) 481 (B) 511
(C) 391 (D) 421

.}_nrj';r . (B) fganiwm
(=] (C) Haul WEERLY] EEat

PT - 24

n4. 1 I BAM W % HIEAH H HAGA 74 7,
(A) U HEY
(B) HAIf7eF Haw
(c) darfash A4

D RIGRER!
l (E) ZA5THd
5. Tfor & Hey # frefafEa 4 3 #19-7 7F

et forgo-aiamg 372
_(A) DI 1 AT 1 EA F 25
ﬁ'él‘if{“rl =707 ] 1A Hd F f—-ﬂ{
gl AT =120 |
(B) W I T & [0 el UoAl 8 A=Al
e, |/
(C) FEUTONA] &1 HEA HHF 1 TIeATAA
o s =tz |
(D) 3= g 52 T == FMAC |
(E) 3ToTEd

26. e FEAl I |
4,2,3.5,7.5,26.25, 118.125

77

4A) 118.125 (B) 26.25
(C) 7.5 (D) 3.5
(E) 3T9anisd
o7, fomamae, addl, fa=mi Sraftad @1 |

HAETU
(A) Fesdfaman

(D) feeeraicrn
() 3wt

- — 5“
28, sj@ell @l qu @it | s
My 36, H3, 124, 215, 342, ?
(A) 481 ~(B) 511
(C) 391 (D) 421
(E) 3PaTEd

(E) Not attempted

TV
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29. 1fZ =52 and ACT = 48, then BAT will
be equal to
(A) 39 B) 46
(C) 44 D) 41  izdip
(E) Not attempted =53
30.

31.

32.

B 'J'c')’i\ﬁ"ll’él‘egréﬁfﬁ’ Group "HaryanaJobs.in"

Which of the following statements is

not true about the five steps of the
Mathematization ?

(A) Identifying the real problem in
the context.

(B) Memorizing an algorithm.

(C) Solving meaningful mathematical
problems.

(D) Making sense of mathematical

solutions in real life.
(E) Not attempted

The agents of socialization are
(A) School and Peers
(B) Family and school

(C) Family, Peers, school and mass

media
(D) School and mass media

(E) Not attempted

Which of the following is a narrow

aim of teaching mathematics 2

(A) To make students proficient in
handling numbers and number
operations. |

(B) To develop :-;luduxilt:s. |
gcnerﬂlizuliﬂn abilities.

(C) To encourage systematic
reasoning among su’xdm_ﬂ.{s.

(D) To develop students ﬂhl!ll}' tlf]
argue the truth and falsity o

statements.
(E) Not attempted

PT - 24

29. Ife Z = 52 37 ACT = 48, @1 BAT f#5

L AT 7
(A) 39 ,(B) 46
(C) 44 (D) 41
(E) 3T9amaa

30. TRt % 9i= =70N % g0 4 feffas

T H HH-H1 F4F Gd T8 8 7

(A) ey ° ar=fdd A9 6l JEaH
AT |

. (B) U UeHIften =l 41g AT |

(C) FedeR TforeTa AHE=TT 1 7 HAT

(D) AT a9 T T0Ted FHIGHE] @l
qHS =AM |

(E) 3rgarfEa

31.

TSR & FH & 0
(A) Ternerg 31 g
. (B) YREm 3R fammea

-(C) 9ER, HawHi, fauem 3t s99=9n
qreay

(D) faemer 3 sg=r T1em

(E) sruaifaa

32. f[=fafaa 4 a4 $m-m1 nftg et &1
hehof 389 B 7
(A) BT w1 WEN 3 HEyy gared @
T W HIE T |
Blial=l (1B) ST A=A amarad wi
| d5d ferfr
C < AT |
(C) BEl H eyafem ad 1 diearfaa & |
(D) wUHl &l g i smegar ut a6

. T DA 6 amar faenfaa e |

(B) 3Twanfaa
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S
_ To conserve the ri ‘
33 nver Ganga, which

Program has been initiated ?

(A) Clean Ganga Mission

(B) Namami Ganga Programme .. 1
L
(C) Ganga Action Plan oL

(D) Ganga Rejuvenation Project

(E) Not attempted

34. The main aim of comprehensive

evaluation is
(A) the spiritual development of the

child
(B) the emotional development of the

child

development of pupils

(C) all round
t of the

(D) intellectual developmen
child
(E) Not attempted

35. What is the significance of

Environmental studies, as an

PT - 24
33. Wﬁmmwaﬁﬁgmﬁ—mm
:_I,Eﬁﬁmw% 7
(A) T3 T T
_(B) =iy T ST

(C) T U T

(D) T frgd AT T
(E) 3TSamad
(A)ﬁ%manwﬁ‘?mﬁﬁzﬁm

iy u’;

34.

integrated enmmnmental science ?

(A) It provides a comprehens

holistic understanding of the

environment and its iSSUEsS

(B) Being able to participate in all
activities

(C) It helps In scoring A+ in theory as
well as in practicals

(D) It helps to enjoy learning of

science more than that of

language
(E) Not attempted

_(A) T8 v 3R g gl S
3 T TN W Wl @
(3) Tl nifafatoe S 3 W o 3 TaW ST 2
(c) e 2l % me-my widewa ¥
A+ TR A & feu HEg il g
r]l] o (D) Uqe Il & et b ERIG l:ﬁ'@‘-l o]

DU
i 3n11‘c:u1mmnuaaa:rﬁ1?

([5) TG
A
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36. Which of the following is most

appropriate strategy for teaching
students to solve mathematical
problems ?

(A) Teacher should begin by
explaining the steps required for
obtaining the solutions of the
problems.

(B) Guess and verify approach
should be strictly discouraged.

(C) Students should be encouraged
to view a problem from many
perspectives.

(D) The list of formulae required for
solving the given set of problems
should be provided in the
beginning.

(E) Not attempted

A watch reads 4 : 30. If the minute
hand points to east in which
direction does the hour hand point ?

(B) South-East
(D) North

37.

(A) North-East
(C) North-West
(E) Not attempted

38. The teachingis said to be effective
when the teacher gives
(A) more explanation

(B) more€ leisure time

(C) :hdividual attention Ej‘*'g
(D) more freedom SEED!
(E) Not attempted

39, Seclect the pair similar to 5 : 35.
(A) 9 : 45 B) 7:77
(C) 3:24 (D) 11:75

(E) Not attem pted

PT - 24

36. TIE HI AU FEEI HI A FA
foEn % fou frefafiga ¥ 9 $14-Hi
WHITd F5H I799d & 7
(A) Toeres 1 GHEAS & HAIYH N
FH & U 3avgs TN HI A
T & AT 6T |

(B) 3T oMM 371 Fefud &l &
afezenion &1 HEd @ Farcaled fan
ST R |

_(C) BTl I 3 Ffeeehvn | HAET I

B e % for viewfea fon ST =fey |

f'f:% (D) mwaﬁ%ﬁqwmm 2l i

T % for e A A OE A A
Eicilc) R

(E) 39aTiad

37. UHHAH 43099 & | A e i g5 |
el <l 3T 9T Al @ a1\ kI gE fHA
fen 1 it g2mq wfl 7 Wﬁ;g
A) I (B) gfem-gg 5
(C) Iw-ufvem (D) I
(E) STyaTad

EATT dF THTE HFT ST 8 99 9aTh
AR |

(A) 3fas it

(B) 3faeh 37Tl s HHIY

_(C) =afad@md e

(D) 31fueh FEEdK

(E) sruaiiEa
39. 5:35% WHM I [ =FF HL |6
_(A) 9:45 B) 7': 77

(C) 3:24 (D) 11 : 75x
(E) 3rafid

38.

"'ll.-_

.10-
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Which of the following statements is

not correct regarding differently abled

children of dyslexia in mathematics

learning in an inclusive classroom 7

(A) Dyslexia impacts only language
learning not mathematics
learning.

(B) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(C) Visual patterns in mathematics
help in overcoming difficulties

experienced by dyslexic children.
(D) None of the above

(E) Not attempted

National Policy on Education 1986

has stressed the use of continuous
and comprehensive evaluation
especially in

(A) Nursery education

(B) Primary education

(C) Primary and secondary education
(D) Secondary education

(E) Not attempted

Which of the following crops
originated in South America ? I-l}-;l-l
(A) Rice, wheat and maize = Ij
(B) Barley, rye and oats

(C) Tomato, potato and green chilli

(D) Cotton, jute and hemp

(E) Not attempted

-11-

PT - 24

40. FHEI FHA1 T Ao Hrww i i &
ﬁlvm*’qﬁﬂ&mmiﬁﬂﬁﬂﬂﬁqfﬁrﬁ‘ga
4 H HI-H1 FUF T& T8 2 7 o
(A) fer=famn e v das =
syt e 2, i w5 T
_(B) fe=ifFos a==1 #1 s fa=mi =
STafeyd 37 "@fea @i+ 4 foma
ko kAT
(C) T | 297 Yo fz=afFas 7==1 Zm
I =l T AT FiAEA THA

IEI"*I
32

. N
hlon

U | HeE Fid 2 |

(D) 39 § H FIE T2
(E) 3T9Taa

41. T foen Hifs 10867 faTs =9 8
T Had 3N RIREE ﬂg—qiﬂn? &
IEM WA e |
(A) 5L foram
-(B) Wiutme foam
(C) wafires 37 wreafie f9an
(D) meafues foen
(E) 3tvartaa

42. frafafaa g - o ataqul TR
e T e B
(A) reet, 118 31T Wah

S, ud 3 e

ey, el 3 zd s

MM, S[E 30T 2

suyifaa

(B)
~(C)
(D)
(1)
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43. 18 considered as the major
milestone in cognitive development
because it marks {he beginning of
logical or operational thought,

(A) Sensorimotor stage
: 43. (B) Pre-operational stage
EI‘}‘ =1 (C) Concrete Operational stage

(D) Formal operational stage
(E) Not attempted

44. The fundamental feature of school life is
(A) Providing good infrastructure
(B) Providing quality teachers
(C) Promoting pupils’ well-being and
their emotional and physical
safety
(D) None of these
(E) Not attempted

45. Ais B’s brother, Cis D’s father, E is

B’s mother, A and D are brothers.
How is E related to C ?

(A) Sister

(C) Niece

(E) Not attempted

(B) Sister in law
(D) Wife

46. Complete the following analogy.
Length : Metre : : Angle : ?

(A) Newton (B) Watt

(C) Radians (D) Candela
(£) Not attempted

47. Pedagogy is concerned with

(A) Aims oo

(B) Content f 3!

135

(C) Evaluation
(D) Teaching methods
(E) Not attempted

= =Join Télégram Group "HaryanaJobs.in” __— — un—

PT - 24

1 AHETenh faEE 0 wpm
it o1 TEdT HE1 ST & aEih I8 Al
a1 wfrarer fa=m i IEIE B WS 2
(A) HIE -3 =T

(B) YA -HlRaTeTH =00

AC) a1 it =

43.

| (D) =i e =

(E) AT

44, el Sfra F geyd faemd 2
-(A) 399 FHFE 2= YEE FE
(B) AT AT T FA
(C) Taenfern &1 wais Hn T wE=

(D) 390 H TS FEI
(E) TuFiiaa

45. A,BHR R R, C,DF a8, E, BF 77
S AMDYEZ IEF CHTNEY2

(A) =& (B) Wl
(C) e (D) =1
(E) 39giiga
46. fr=feiiEa wmEw @ |
oS @ Hie : : whivr o ?
- (A) = (B) 4re
(C) e (D) e
(E) 3wfaa
47. fToemems @ g9y 2
(A) 3274
(B) fawEEg
C) Yeard
(D) fareor faieai
() siwaifEd
-12-


vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight


48.

49.

50.

S1.

52,

Join Telegram Group "HaryanadJobs.in"

The micro-organisms which convert
the dead plants and animals to
humus are known as

(A) Decomposers
(B) Producers
(C) Consumers
(D) Scavengers -
(E) Not attempted

In a class, 20 opted for Physics, 17
for Maths, 5 for both and 10 for other
subjects. The number of students In

the class 1s
(A) 35

(C) 32
(E) Not attempted

(B) 42
(D) 60

Green leaves make their food by the

process of

(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Germination

(E) Not attempted

Which district of Haryana has a
topography characterized by long and

narrow pediments and
caused by windblown sands ?

(A) Mewat (3) Gurgaon
(C) Panchkula (D) Karnal
(E) Not attempted

Socialization is the process ol
learning to become & member of the
(A) School

(B) Society

(C) Committee

(D) None of the above

(E) Not attempted

-13-
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48. v Ml 3N STEA 1 7R TR 1 AR T 37

49.

Sl =l

F EY W AR ACN D

UﬁﬁmaﬂﬁQOﬁﬁﬁiﬁﬁﬂﬂw , 17 9 T,
& 3 2l fawa @an 10 3 371 faw #1 Z

femen lzﬁaﬂﬁfaﬂﬁﬁzﬁt#@ﬂmﬁra 2 Benc.
(A) 35 AB) 42
(C) 52 (D) 60
(E)
s0. 7l ufeal T HISH fepm wisnar g1
AT B 7
_(A) TERTIETATT
(B) aH
(C) AT
(D) AH
(E) Iwanfad
51, zramn & fea faa & xyerFT @a
A gt wifl s gl & 3% I 0,7
T 1) ATt SarR-aerd Je 27
~(A) Hard TRERIE
(C) TEe! (D) FETE
() rifEd
5o, HHTSIET & go=g g4 9§
feru wi@H bl uferan 2 |
(A) ¥hel
[ ."I '] .
"1’{f5'5f¢ (1) W
3zt () winld )
(D) 3w H g I3 16
(E) T
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S54.

S5.

56.

57.

" ow

o

RS -;-‘u'-:*-ﬂc'rn—:Fertegra‘rTT‘G*roup "Har'ylana"J*c‘)bS.in"

Who is known as Hadi - e - Haryana ?
(A) Shah Gulam

(B) Shah Muhammad Ramzan
(C) Gulam Qadir

(D) None of the above ‘
(E) Not attempted -_]]:' :

This festival in Faral village is
celebrated on Somvati Amavasya
(A) Gugga Navami

(B) Phalgu tirth

(C) Baisakhi

(D) Lohri

(E) Not attempted

Five people P, Q, R, S and T are sitting
around a circular table facing towards
centre. S does not sit besides R. R sits
between P and Q. T is on the second
place from the right side of P. Who sits
to the immediate left of T ?

(A) S (B) R

(C) P (D) Q

(E) Not attempted -

Topra is a historical village located in '
which district of Haryana ? |
(A) Faridabad (B) Panipat

(C) Rohtak (D) Yamunanagar
(E) Not attemnpted

A man travels 100 km distance at
60 km/h speed and next 150 km '
distance at x km/h. If the average
speed of the marn is 50 km/h in the
whole journcy, what is the value of x
from the following ?

A) 45 (B) 44

©) 43 (D) 42

() Not attempted

PT - 24

53. H-U-FEAWT % AW F,fH8 S S 2 7
~(A) TITE T
(B) I8 Hasg S

54. W{d Tiid U Fg cdiaR |nad] FAAEE @)
T AT 2
(A) T S
AB) w1 fad
(C) =HTE
(D) wEgl-
(E) FAUaT&d

55. 499 =AfEd P, Q, R, S 31 T %z =l 31 4z
Fh JARN 09 & 9/ HT 45 2 | S, R
% TS 0 T8 d3a1 2 | R, P 3R Q & 59
HAST R I T, P& o5 310§ gl WH W
21T I 986 3R = 221 2 7

-(A) S (B) R
(C) P (D) Q
(E) 3rvanfag

56. 29U s * fryg e § e
ufqeifyes g @ 7
(A) WiigETE (B) 9TTa

(C) TEa® AD) AT
(E) 3twarfaa

57. U el 100 faft i gt 60 /AT
1 fa & 9w R 3w 150 frdl A D
xﬁﬁd’t/ﬁaﬁﬂﬁiﬁmm%wﬁ‘ﬁ'

I o 3TeH i ﬁ'mﬂﬂﬁ‘fsuoﬁrf’f/ﬁaﬁ'

V! fiferfiaa 3 & x R 7

1 ]

=H..(A) 45 (B) 44
(C) 43 (D) 42
(E) 3Tgfad

-14-


vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight

vijay
Area Highlight


Join Telegram Group "HaryanadJobs.in"

58. which of the following is not g —
gender role ? '
(A) Reproductive role
(B) Gender dynamics role
(C) Productive role
(D) Community politics role
(E) Not attempted

Which of the following is most |
suitable for teaching children, the
concept of fractions ?

(A) Cuisenaire rods

(B) Abacus

59.

(C) Geoboards
(D) Number charts :.
(E) Not attempted =

El

H: -

N

Dr. Sultan Anjum was editor of
ine of

which monthly Urdu Magazi
Haryana for 35 years ?

(A) Tamir - € - Harvana

(B) Jajbat - € - Haryana

(C) Nagmat - €~ Haryana
(D) Nigarshat - €~ Haryana
(E) Not attemnpted

60.

Epilepsy describes 4@ condition of

(A) hearing impairment
(B) abnormal brain activity
(C) visual impairment

(D) children with learning
(E) Not attempted

61.

challenges

wing is the lig
w DRDO and L&T to
s ruquin::m:m:;

62. Which of the follo

meet the Indian Army
rn Ladakh ?

(13) Arjun
(D) Zorawar

in the Easte
(A) T72 M1

(C) Vijayanta
(E) Not attempted

ht Battle |

PT - 24

g, faeAfafad i 7 wma-m fem giww

(C) TG -T~E AT
(D) Frmra -u-g i
(E) ITaiiad

61. ﬁvﬂ@ﬁ}ﬁﬁuﬁfmmhzaﬁi%
(A) HAH 1 geerd
nfeass

(C) 7 GEerdl
D) Hra 1 e @ =

() 3Tnfad

gdi erer@ H Wit w4 & STEATTHATA]
@ YU &@ & e DRDO 3 L&T &l
frarfad T ag® 36 Frareygg 3 8
HH-E 2 7 |

62.

Bl (e (A) T72 M1 ~(B) 37
a3z (C) Tawad (D) SIRTE

(E) 3w

-15-
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PT - 24
03. The D HT91
The PUrpose of assessment of 63. HIEA & YoATR H1 I
learning is to measure, certify and yifora e 3t froard @ 2 |

report the

\A) Level of administration
\B) Level of teachers’ teaching
(C) Level of students’ learning
(D) None of the above
(E) Not attempted

7
[=]7:

YT
e dC

64. X starts walking from his house

towards East. After walking 2 km,

he turns left and walks 6 km. From
there, he again turns left and walks
10 km distance. What is the distance

of X from his house ?

(A) 6 km (B) 8 km
(C) 14 km (D) 10 km
(E) Not attempted

65. Which district in Haryana is a major

hub for the Automobile Industry ?
(A) Faridabad (B) Panipat

(C) Gurgaon (D) Karnal

(E) Not attempted

66. Choose the correct statement.

(A) The shape of figure determines
the perimeter,

(B) If two figures have same area,
their perimeters are equal,

(C) If two figures have same
perimeter, their areas are equal.

(D) The units of perimeter and area
are same.

(E) Not attempted

-16-

64.

O
[w] 2

(A) T 21 %1

(B) foreashi @ 3o HFT
_(C) BTl & HiEA @ =

(D) 3T | H HI3 A

(1) A9

X 30 T A g AN T IE A R
6 forifl werar 2 | 977 |, 97 & 5 &
Tedl 2 3 10 R i g0 99 w4 2
X 6 3 o H gl fFa 2 7

(A) 6 Tepri (B) 8 feri
(C) 14 ferrl AD) 10 T
(E) 3Auafaa

1 UTE FZ B ?

(A) HiiemETg (B) UTHIA
(C) TETE (D) AT
(E) 39T

66. W&l HUT AT |

(A 3usHfa 3 gfifa Rl s g |

(B) afa &1 3nepfal &1 &% JWE 2, q
37eh! ufthe sUe g6t 2 |

() ufe &1 swesfaui i uftf q9m 2, @
ITh &A% GUE Bld 2 |

(D) uftfa 3 &Ehet & FwTsal qHH
&Il 2 |

(E) 3T9TiEa

[x])
[ ;P.‘

. L]
gy
M s
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67. lev Vygotsky's theory became knowrn 1 ArImeEf : .
(A) Socio- Psychological theory of as | 67. ©id n: zh @ fagm  REmy
development ST ST 2|
(B) Physio-Psychological theory of A Ry 1 e <ttt |
development ' - ] ISl = HATAITF g
(C) Socio-Cultural theory of BRERILEED srrfttres - st fazm
development — .
. , a1 [ _(c) famm st -wrepaE e
(D) Socio-Physical theory of " ]11 aln (C) . |
development [_]J ,,) (1) Eeatienl *7erf e - T Fq?ﬁ?f?
(E) Not attempted | (I£) srerifaa
68. People who have been living in the 68. Il @I A I Ky 25 a9 H HTA ° 77 27,
5
forests for at least 25 years have a 38 el @1 A T IH R UIEREIC 1l
right over the forest land and what is 5w sifwn 2 | 72 waa e wfuts
grown on it. This statement is related | a :mf 3 4 |
with which Act ? o ud ©
(A) Right to Forest Act, 2007 (A) @7 sl sfafE, 2007
(B) Indian Forest Act, 1927 (B) S GIPECE! sfafa=g, 1927
(C) National Forest Act, 1988 _(C) T A fifaas. 1988
(D) Indian Forest Amendment | D) o o R WSS, 2019
Act, 2019 ‘ B
(E) Not attempted (E) 3amHa
: CIEIRG] Sz § FE-H
69. What primary cultivation is found in 69. F:‘;ﬁt;'" * : »
the flood plains of Panipat district ? \ Qluimh$ e Eﬂ?ﬂ‘ e !
. A % HATC
(A) Tea and spices :B: -
(B) Rice and sugar=o” '(C) gy 30 HIUET,
(C) Cotton and soybeans D, AP,

(D) Vegetables and fruits
(E) Not attempted

(k) swifad

pumbers | 7o, “fawll s @ demt w1 A TF

70, =« any two whole L ..o =
The sum of any erty of e gl 2 1 gl el & 3 T
is a whole pumber.” This property 2
| dl ¢
whole numbers 18 referred 10 88 [ - 7:?” ;:'dwl N
et ve property 'r (A
(A) Distributive prol l_Jj (13) AT 1Y)
(B) Closure property () fafag qu
(C) Commutative property D) @rE=d 1l
(D) Associative property (E) 3mwarfad
A

(E) Not attempted .
-17-
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71. Sy Faeprer fagia foaeh g fean man e 7
(A) S for (B) ©d A

71. Moral development theory is given by
(A) Jean Piaget (B) Lev Vygotsky

(C) Kohlberg (D) Pavlov (C) 'e':ﬁli'?lﬁ"i (D) qraerd
(E) Not attempted (I£) AAEA
72. The theory of Pedagogy is broadly 72. foremomeE % ferzia =i Iiﬁ A 7
classified into categories. gfort o H"ﬂ?ﬂ fep T 2
(A) 4 (B) 3 ., =1 A 4 (B) 3
) 2 (D) 5 ﬂr_# (C) 2 (D) 5
() swEfEa

(E) Not attempted

—3. Rickets is caused by the deficiency of

which Vitamin ? (A) fererma A

(A) Vitamin A (B) Eof B12

(B) Vitamin B12

(C) Vitamin C ©) ferri C

(D) Vitamin D ,(D) @@ D

(E) Not attempted (E) 3TSaTEd
=4. The circulation of water between 74, WHe™IM 3 ‘Iﬁ? % |9 Fol @ Haod I

ocean and land is known as the EEll Eh_r:!ﬁ 27

(A) Water management (A) Sict pEE

(B) Water cycle _(B) Sl =sh

(C) Water recycle ; _]ﬂ.',g (C) vicd S'I?I?F‘JT

(D) Water pollution e (D) Stel JqHY

() stgaiga

w5. The stage between 11 yearsto 15years | 75. 11 ad & 15 ad A Hifuw & o= A T B

above 1S N .
(A) Sensory Motor stage (A) Hda ‘ITIET e <

(B) Pre-operational stage (13) r[ﬂf—ﬂﬁﬁﬂm JaET -
(C) Concrete operational stage (C) a1 gfspareyss g "

[D) Fﬂrﬂlﬂl ﬂpcl‘ﬂtiﬂﬂﬂl Elugu __(D) ﬁm W mﬂw”’
() Not ﬂtlﬂlﬂplﬁd (E) m

(E) Not attempted

-18-
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76.

77.

78.

79.

80.

Join Telegram Group "HaryanadJobs.in"

If TAIL is coded as VCKN, how ;
PEACE coded ? "

(A) RGCEG (B) OFBD:

(E) Not attempted

The three parameters of adult
socialization is
(A) Childhood, marriage, parenthood

(B) Childhood, marriage, old age
(C) Marriage, parenthood, old age
(D) Childhood, parenthood, old age
(E) Not attempted

Pre-operational stage start from
(A) O - 2 yecars (B) 0 — 5 years
(C) 2 -7 years (D) 2 -9 years
(E) Not attempted

Complete the following analogy.

Horse : Mare : : Dog ?
(A) Paw (B) Bitch
(C) Kennel (D) Puppy

(E) Not attempted

rsonal relations between

The interpc
.nts involves

(B) Show concern for students and

their pmhlems

(C) Motivate and inspire sfudents 10
learn -
bove FRI72

(D) All of the @b i -;'rl[ﬂ

(E) Not attempted

76. %

PT - 24

TAIL 1 VCKN ferman sman 2
PEACE h fara Rt ferman = 2

AA) RGCEG (B) QFBDF
(D) QECEG

AL . .
S (D) ==, =g, 2T
(E) FroariEd
78. Hi-3raLIEe J H 7= 27 2 |
(A) 0 -2 Y (B) 0-574
_(C) 2-77d (D) 2 -9 4
(E) rsariad

79. ﬁﬂ%ﬁﬂﬂmﬂww|

80.

.19-

|rgr ; |igl Bl 7
_(B) FfaF

(A) G
(C) e (D) faeen
P EELEUEE

foreren 31 O & 44 qroegfrs Hadl A

SINECE]
(B) Al i 39 gEEn Nl & e e
REIEL
(C) @l ] gy W feru wreafEd 3T
ufid @l
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PT -

English Language

+ Evaluation In teaching English
languﬂgc composes
(A) Classroom management or
classroom decision making
(B) Analysing and interpreting
information for learners
-(C) Both (A) and (B)
(D) Neither (A) nor (B)
(E) Not attempted

Direction (Q. No. 82 and 83) : Read the

following poem and answer the questions

given below it.

What is this life if, full of care,
We have no time to stand and stare ?

No time to stand beneath the boughs

And stare as long as sheep or cows ?

No time to see, when woods we pass,
Where squirrels hide their nuts in grass ?
No time to see, in broad daylight,
Streams full of stars, like skies at night ?
No time to turn at Beauty’s glance,

And watch her feet, how they can dance ?

No time to wait till her mouth can

Enrich that smile her eyes began ? v

A poor life this if, full of care,

We have no time to stand and stare.

82.

I
b
B ||

83.

84.

-20-

No time to turn at Beauty’s glance

And watch her feet, how they can

dance ?

Figure of speech used in these line

are
(A) Personification
AB) Alliteration

(C) Metaphor

(D) Simile

(E) Not attempted

Meaning of the word woods in this
context is

(A) forest

(B) brush

AC) cleared

(D) furniture

(E) Not attempted

Fill in the blank with appropriate
preposition from the alternatives

given below it.

They are planning to go for a stroll

the river bank.

(A) along
AB) through
(C) on

(D) about

(E) Not attempted
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g 24

ich am ;
gs5. Whic ong the l'nllmwng 1“.]”1“, to 88. In Extensive reacing

the maxims of teachine an.
ching p » (A) The aim is only to grasp the

Proceced fr ' . .

(A) from simple to complex meaning of what is reacl

(B) Proceed from particulay 1o a:z(w) (B) The help of the teacher is
general : iff / |

[ [=]" [w] maxiumourm
(C) Proceed from whole 1o parts (C) Words, phrases and expressions
_(D) All of the above arc not studied in detail
(E) Not attempted AD) Both (A) and (C) are correct

[2) Not attempted
86. Choose the alternative which best ) ;

- ' r . 1 o s B
expresses the given sentence in direct/ | 39. Measures to impiove handwitting is

indirect speech. _ o
P (A) Using the transcription notebook

Anmol said to her, “Don’t read so (B) Model writing on paper may be

fast”. .
displayed on flannel board

(A) Anmol told her not to read so
| (C) Use of over handwriting ships

fast.
(B) Anmol advised her not to read so | (D) All of the above
fast. (E) Not attempted

4{C) Anmol requested her not to read , I
fast 90. Choose the appropriate active/passive

so fast. |
(D) Anmol ordered her not to read so form of the following sentence lrom
fast. the alternatives given below 1L

(E) Not attempted Piyush’s pocket has been picked.

87. Students with speech defects may (A) They have Piyush's pocket
answer picked.

(A) Need more time 10 orally
(B) Picking has been done to Pivush's

questions

(B) Use assistive technology to better pocket.
. cn b l. |

communicate | oted (C) Picked has been Piyush's pocket.

(C) Also be at risk for being targeted |
: | -(D) Someone has picked Piyush's
by bU]l]ﬂE #,;, [.]
T, pocket,

D) All of these i fé
(E) Not attempted

(lx)] Not attempted

21.
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e ~ 24
% PT
fems 5 i faered
- 5 qerier @1 S | 9iET <l
91. Wmnawamﬁm—m%? 96. ?ﬁ“‘lﬁ g A 1 S T
(A) T @1 3nft =R T E frar, TiifE 2T FgA @l I‘I% e
(B) T3 I FTR A= E | ﬁ‘fﬁﬁﬂiﬁ?ﬂ?ﬁ“m i
(C) T 3nft TS I E | Wﬂ%’fﬂﬁ%fmﬁ;m@ﬁ?'&gqﬁml
§F anf a8 | gﬁgﬁwﬁ,ﬁﬁ%m,ﬂ g9 did 7
(D) . it J2, TEE ﬂﬁ,@ﬁmw'
(E) I P gzﬁ&-a-gaamw,aﬁ@aaaﬁeﬁt?
.‘éi.;,l:- i . e e - E_B% 3 @—é’l |
) A e a1 [E qmmmﬁzﬁ@, EE
92. & wrez fas =9 A fom, =, 09 94 Wﬂg@ﬁgmﬁaﬁamgﬁﬁﬁ
1T 3 IO UiEad Ael el g | .
g:IEEFFE-' aE!n,ﬂ' E’Eﬂé, ""[:L”EI ﬁm W l
mw,ﬁ%ﬁmzﬁﬁ,ﬁimqq&u
iter fepgeht w4 @Ml & 7
(A) THEA (B) A9
(C) YA _(D) A
(E)
| o7. T vrE @1 URW fhEh GRT B3 AT 7
(A) fame (B) WTTEl
_(C) dTfuri (D) THITcigd
(E) ST9mHd
| o8. Tt =afaa, owq 91 W& & ATH HI F41
' 04. ‘Y @ AW Ry wifers aeE H B@T E 7 FEd & 7
(A) @I (A) H?f'-IT‘l._ +B) I3 )
| (SRENEL (D) Terenfarsigur
| _(B) SaAT hid | (E) 3T
| (C) wfaen &rel 99. T fohae WaT % &4 & 7
(D) 0 & IS 7 ‘(‘g’; (B) 8 —
) (D) 3T 1
(E) 3Tt (E) 3Tt :@
S’ e 33 : 100. viegi @ 3nfe # @t Ik 7Y o fagiea
95, xrd = 4 \ . .
2T % H FA 1 A A 2 7 @ A Ih Hd Bl HdAT " o 91
_(A) 24 (B) 12 1’-5'-'{- | mw% 7
(C) 10 (D) 13 .;i":lrf (A) 3q_H'i -(B) 99
(C) &= (D) HHTH
(E) AvaTtaE () 3rnfad
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Provisional Answer Key for PT — 24 (Set-A)
Question No. Answer Key Question No. Answer Key
1 B 51 A
2 B 52 B
3 D 53 B
4 D 54 B
5 C 55 A
6 B 56 D
7 A 57 A
8 A 58 B
9 A 59 A
10 C 60 A
11 B 61 B
12 C 62 D
13 B 63 C
14 B 64 D
15 C 65 C
16 B 66 A
17 D 67 C
18 A 68 A
19 C 69 B
20 C 70 B
21 C 71 C
22 A 72 B
23 A 73 D
24 D 74 B
25 C 75 D
26 D 76 A
27 B 77 C
28 B 78 C
29 B 79 B
30 B 80 D
31 C 81 C
32 A 82 A
33 B 83 A
34 C 84 A
35 A 85 D
36 C 86 A
37 A 87 D
38 C 88 D
39 B 89 D
40 A 90 D
41 C 91 C
42 C 92 B
43 C 93 A
44 C 94 A
45 D 95 A
46 C 96 D
47 D 97 A
48 A 98 B
49 B 99 D
50 A 100 A






